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THERE WILL BE PENALTY FOR-WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS,

(i) There are four alternativesfor the answer to every question. For@éach question for which a wrong answer
has been given by the candidate; ene-third of the marks assigned to that question will be deducted as
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(i1} If a candidate gives more than cne answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that question.

(iii) If a question iz left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.
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Consider the model Vi = R+ oo+ .SJ + &
i=1,2;j=1, 2. For which one of the following
choices of A, the function A’f where
' = (u, oy, 0y, By, B,) is not estimable ?

(a) (1,1,0,1,00

(b} (0,0,0,-1,1)

() (0,-1,1,0,0)

d (1,1,1,1,12)

For the model Y =Rt +Eﬁ,i¢‘1+ 2:i=1,2;
consider the following statements ;

L = u+%yis estimable.

2, T + T, 1s estimable.

Which of the above statements is/are correct ?
{a) _1only

(b)~2only

(¢)--Both1 and 2

(dy—.Neither 1 nor 2

Let/ X, Y and Z; i = 1, 2, 3 be nine
independent observations with common
variange ‘0, and EXX) =8, E(Y) = 0,
E(Z)= 8] - By; i =1, 2,8. If X = Z?l o

Y= 3 W oand Z =3 |z, then the

BLUE of 8, is given by
(a) % 2X +Y=12]

b) %[x:,z&'-z]

© %D{+2Y-EZ]

(d) %[K+3Y—EZ]

(2-A)

In general regression model
Y0 = X abBio + Enq Further ¢ is N(0, o D).
The nx1 vector of ordinary residuals is

denoted by e = Y — Y . The distribution of “—E

h 4
18

(a) N0, 0 p)

(b) | (N(XB, o)

O ¥,

@ 1o

Consider a model
Y,=A+B+C+D +ey;

Y,=A+C-B-D+e,
YSnA+B—C—D+e3;
Y,=A+D-B-C+e,.

If this model is equivalent to Y = XB + e, then
the matrix (XX)™! is equal to

1
@ =1
1
) 3,
© 1,
1
@ 3,

Consider the following statements :

1. Tukey's test  of multiple comparisons
reduces the Type-I'error in the test.

2, Student-Neéewman-Keuls test uses

stepwise procedure.
Which of the above statements is/are correct 7
(a} 1only
(b} 2only

(c) Bothland?2
{d) Neither 1 nor2
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7. Consider the following statements in respect
of a symmetric matrix X :
1. Generalized inverse of X is not

necessarily symmetric,
2. Symmetric inverse of X can always be
determined.

Which of the above statements is/are correct 7
{a) 1only
(b) 2only
{¢) Both1land?2
{d} Neither 1 nor2

8. Five methods of packing frozen foods were
compared by taking six observations for each
of the methods used. The respense variable
was ascorbie acid (mg/100 g). The degrees of
freedom for error sum of squares are
(a) 26 a
(b) 25
{c) .24
(d) 20

9. Consider a two-way classification with one
observation per cell. The model is
V=Htorfte;i=128, ..p
i=1,%2 3, .., 4 Which one of the following
parameters is estimable ?
(a) T @
by B
(€) oy —og; 1, W= 152, 3, Npdi#u)
d o;+0

10. Let A be matrix of order 4 x 7, then any
generalized inverse of A is of order
(a) 4x4
(b) Tx4
(e) 4x7T
d 7Tx7

SDT-S-STT

11.

12,

13.

(3-A)

Let X be a discrete random wvariable with

probability distribution
f if x==1
PX=x)=
(1-0%0* ifx=0,1235,..

where 0 < 8 < 1. Then
{a) . Xis minimal sufficient and complete.
(b) " ' Xis minimal sufficient only.

(e}  XKis complete only.
(dY  Xisunbiased estimator for 0.

Let X, X,, ..., X be a random sample from

uniform  distribution. 10, 8), © 6 > 0.
Define U = 2X, such that X = Ei& and
T = xm = min (Xj, X, . ,Xml Then

E[U|T = t| will be

(a) independent of 0.
(b) most efficient for 0.
{e) = a function of 8.

@ | MVUE for;

4

Let X ~ fix, 0) = —Ea,xhﬂ'ﬂbﬂﬂﬂd

Y
Y.~ fiy, 0) = %E 28 - v > 0,08 % 0, Which one
of the following statements is correct 7

(a) X + 2Y is sufficient for 0 and left tail
UMP test is givenby X + 2Y < C.

(b) " X+ 2Y is sufficient for 8 and right tail
UMP test is given by X + 2Y > C.

{c) Y + 2X is sufficient for 8 and left tail
UMP test is given by Y + 2X < C.

(d) Y + 2X is sufficient for 8 and right tail
UMP test is given by Y + 2X < C.
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15.
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Consider a Sequential Probability Ratio Test
(SPRT) to test H; : 8 = 6, against H, : 6 = 8,
taking

longasa_<s < -

and continue observations as
m=1, 2, 3, .. where
B, = E:‘i]}(i ; a = 090 + 005 m and
ry, = 225 + 0-056 mq On the basis of the data

(1,1, 0, 1, 0, 0} the decision will be
(a) may accept Hyat 6 stage.
(b)  reject H, at 4% stage.

(c) “may accept Hyat 3™ stage.

(d)._reject H, at 8™ stage.

Let Xy, X, X, .4 X, be iid. random

variables  from

fix) = leh;,x: 0, « > 0. Then the uniformly
a

the density function

minimum variance unbiased estimator of the

parameter o is

=1

(a)

(b)

o | el

(]

b |

(d) ——
n+l

16.

17,

(4-A)

Let X, X,, X, ..., X be a random sample of
size n taken from normal population N(0, o2).
Then a central confidence interval for o® (i.e.,
confidence with equal tail
probabilities) with confidence coefficient 0-95
for large sample is given by

interval

f

1 2 1 2
J ;‘Z?ﬂx; EE:‘LIX.‘
1-#-1.-E'GJE 1—-.1'96F
\ n n
lvg 2 lv - 2
s e W
1+1'96ﬁ 1 -H'QEF
\ H n
n w2 n 2
i o X | X
1+1*9&J§ 1 —I*HEJE-
L n n
f
2 2
(d) E:]I=1x' 4 2?=1xi "
1+16484° 1-1-645F
L n n

Consider the following statements in respect
of an estimator T for the parameter 6 :

1. 'T'is unbiased for ® = T2 is unbiased for
02,

2. T is consistent for 0 == T? is consistent for

(i
3. Tis sufficient for 6 = T? is sufficient for 0.
Which of the above statements is/are correct ?
(a) 2only
(b} 2 and 3 only
(¢) 1and3 only
(d 1,2and3
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If T, and T, are two consistent estimators of
8, and 6, respectively, then consider the

following statements :

1. (T, +T,) is also consistent estimator for
(8, +8,).

2. (T, xT,) is also consistent estimator for
(8, x B,).

Which of the above statements is/are correct ?

(a) Lleonly

(b) + 2only

(¢) Bothland?2

(d) Neither1 nor2

19. If x is a random sample of size 1 from
Poizson (@), then 5* is the unbiased estimator
of
(a),. 8"

(b) e
(c) ¢ &*®
d @&°

20. let 4,8, 6,3 6,2 3,44 3/5and 5 bea
sample of size. 12 from the geometric
population having pdf
fix)=0(1-0"%x=123,...

The estimator of 8 uwsing the .method of
moment
(a}) is 0-25.
(b) is4.
(c) is 48,
(d) does not exist,
SDT-S-5TT

21.

22.

(5-A)

Consider the following statements in respect
of a random sample x,, x,, X, ..., x, from

Ni®B, 4) :

1.  MIEof@is 23 ..
n i=]l T3

2. MLE of 2 is lEP_ %2,
n i=1l i
Which of the above statements is/are correct 7

{a) "1 only

(b) 2enly
(¢) Bothland?2
(d) Neitherl nor 2

Let X;, Xz, Xs, wsy X be i.id. random variates
from/ W0, 6). ITY = max (Bl X, X)),
then an unbiased estimator of #®will be

(a) ¥

n+3
o (22
3
{ci 'K
n

Let x;, x5, Xg, ..., X be a random sample from
U0, 8). 1f Xy, S Xg) S Xy S SX, are the

order statistics, then which of the following
statements is/are correct ?

1L, X i8 the MLE for 8.
2, p is the consgistent estimator of 9,

Select the correct answer using the code given
below :

(a) 1only

(b} 2only

(¢} Bothland2
(d) Neither 1 nor 2
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24, If Xy Xg, Xy oy X, i85 2 random sample from

(),
statements :

Poisson then consider the following

 E 12?_1 x; is the maximum likelihood
o =

estimator of 6.
2, %EH x; is sufficient for estimating 6.

Which of the above statements is/are correct ?

(a) leonly

(b) © 2 only

(¢c) Bothland2

(d) Neither1nor2

Consider the following statements :

1.  Cramer-Rao inequality provides a lower
bound 'to the variance of & sufficient
estimator for y(8).

2. A minimum variance bound (MVB)
estimator for y(6) exists if and only if
there exists a sufficient estimator for
e,

Which of the above statements is/are correct ?

(a) 1only
(b} 2only
{c) Bothland2
{d) Neither 1 nor 2
(6-

26. Letx,, x,, X4, ..., Xx_ be a random sample from

27.

A)

the population with pdf
lexp [— i]; D<x<en
fix, 8) = (i @
0; otherwise

The Cramer-Rae lower bound to the variance
of an unbiased estimator of 0 is

(a) &
2

S
n

(g) nh?
o2

(d) ?

Let x,, X,, Xq; «.., X be a random sample from

the pmf
2

P[Knxlz[ ]11—5)2““3";0'5351:

X

x=0,1and 2 and T = ZF x,. Which of the
following statements ig/are correet ?
1. | Tis a complete sufficient statistic for 0.

5 P

. MYVUE of 62,
Pncn - D AW o

Select the correct angwer using the code given
below :

(@) 1only

ib) 2only

(¢) Bothland?2
(d) Neither 1 nor 2
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gize 64 drawn from Poisson (A). If it is given
that X" x, = 256, then 95% confidence

interval of A is

(a) (3-51, 4-49)
(b)  (0-08, 7-92)
(c) (3-76, 4-25)
(d) (3-02, 4-98)

29. For a likelihood ratio A, consider the following
statementss
1 0= k=i,
2.  (=2iogd) follows asymptotic Chi-sguare
distribution.
3. | “Likelihood ratio test is consistent.
Which of the above statements are correct ?
(a) .1 and 2 only
(b} 1 and 3 only
(c)» +2 and 3 only
{dd 1, 2and3
30. Let x;, X4 Xg, Xy be a randem sample from
normal population with pdf
v 1 z]
= =~ n)% ;e o,
ﬂK.Hj'mm[ 4(_1 H €x<
The S.P.R.T. for rejecting H, ='=4 against
H, = =6 for@= =005 is
(a) LI, x,25n +logdd
(b) ZP x.25n
(c) E?zl x.zn
(d) E?ﬂ x,2n +log 19
SDT-S-STT

31,

32.

(7-A)

Let the random variable X have N(0, 1). Then
E(|X]) is equal to

(a) 2z
Jn
(b) B
J2
(1] ﬁ
f 2

anl!t}i-»*-|:r'i1.;|:l]..p|E[aL b }:n:ﬂ,

la+b.a+b

b = 0. Then MLE of'p is
X+b
a+bh
(b-a)X-1

a+b
ib-a)X +a

a+b
ib-a)X+b

a+bh

(a)
(b}
ic)

(d)

Consider the following statements.:
1.  An unbiased estimator is always

unique.

2. Sufficient statistic is always a function
of MLE.

3. Consistent estimator. need  not be
unigue.

4.  UMP test is not unique.

Which of the above statements are correct ?
fa) - 1 and 2 only

(b) -8 and 4 only

{¢} 1,3 and 4 only

{(d) /+ 1 and 4 only

Every similar test for testing under H, has a
Neyman structure under which one of the
following conditions ?

(a) Sufficient statistic

(b) Consistent statistic

(¢) Boundedly complete

{d) Boundedly complete sufficient statistic



35. Consider the following statements :
1.  Unbiased estimators may not always
exist,
2. Unbiased estimators are always unique
if they exist.
Which of the above statements is/are correct ?
(a) 1only
(b) 2 only
(c) Both1and2
(d) Neither 1 nor 2
36. Consider the following statements :
1. / Iftis anunbiased estimator of 8, it need
not be consistent.
2. Iftis a consistent estimator of 8, it will
also be an unbiased estimator of @,
Which of the above statements is/are correct ?
(a) Yenly
(b) . 26nly
(c) Bothland2
(d) ““Neither 1 nor 2
37. Letx,, x,, x5, .., x be a random sample from
the population with pdf
x x? :
fix, 0)y= Eﬂxp [—nuﬁ];x >0and @ >0.
The estimator of 6 using the method of
moments 18
(a) X
(b) x*
(c) -
x
W
n
SDT-S-STT
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(8-A)

Consider the following statements :

1.  An MLE is always unique.

2.  An MLE may not be consistent.

3.  An MLE may not be unbiased.

Which of the above statements are correct ?
{a)  land 2 only

(b » 2.and 3 only
(e)* .1 and 3 only
(dY 1,2 and3

Let x,, x5, Xg, ..., X be a randem sample from
Poisson distribution with parameter 8. Then
the unbiased estimate of e which doesn't
attain C — R lower bound is

(a) Z:,

b 2%
© [1 ' %Jh‘
(d) 2Exl.

A random sample of size nuis taken from
N(6, 100) and probability of aecepting H,
when H, . i8 true is 0:01. If critical region of
gize 0-05 is used for testingH, : 0 = 90 against
H,; : 8.= 100, then the sample size n to be
taken, is

(a) 14
(b} 15
(e) 16
d) 17
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41. Let X, X,, X, .., X, be a random sample
from a distribution with pdf
l:—iﬁxﬂg, 0 >0
fix, 8) = 0 2 2
0 otherwise
For the sufficient statistic for the parameter
6, consider the following statements :
1. Order statitie (X, XgisXgj s X)) I8
sufficient for 6.
2, Order statistic {Xw, X ) is sufficient
for 6.
Which of the above statements isfare correct 7
(a) 1only
(b) ' Zomly
fe) Bothland2
{d) © “Neither 1 nor 2
42, Let Xy, Xp Xy 0., X, be fiduwith probability
density furietion fix, 6) = e® -0k x5 9, Let
Xy = mind X,, X0 X, ... ,X,). Define the class
of estimators T(X) = K,y + k: k € R. The
estimator that has smallest mean squared
error (MSE) is
(a) TX=X,=n
(b) TX)=X, +1
@ TX=X,+~
=Ag* 5
@ TX =Xy~ ~
3
SDT-8-STT

(9-A)

Let x,, X5, Xg, .0y X, be a random sample from
Ulc, p). The MLE of o and P are respectively :
(a) Exiund fo

(b) IIx;and [Ix}
(e) min (x,, x,, X3, ..., X ) and
max'ix],x_i,xa. oy X )
(d) Kﬁu"‘ﬂm and El_i!"'xllr
2 2
Consider the following statements :

1. A minimum wariance bound unbiased
estimator (MVBUE)is always uniformly
minimum variance unbiased estimator
(UMVUE).

2. An MVBUE of a parametéer § must be
sufficient statistic for 8.

3. 'AUMVUE is always MVBUE,
Which of the above statements are correct 7

(a) 1and 2 only
(b) 2and3only

{(¢)  1and3only
(d  1,2and3

Let x,, X,, Xg, .-, X, be 2 random Ssample from
Cauchy’s population having pdf

1
al4x — )]

Consider the following statements :
1. Bample mean i3 a sufficient estimator

fix, 8) =

of 6.
2., | Sample mean i§ a minimum variance
bound estimator for 0.
Which of the above statements is/are correct 7
{a) 1only
(b} 2only

{(e) Bothland2
{(d) Neither 1 nor 2
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If x,, x,, xg, ..., x; be a random sample from a
population following Poisson distribution with
parameter A, then 95% confidence interval for
A (for large n) is

(a) x +196 E
n
(b) X 196 —JE-
n
(© = e >
i
@i % + 198+ X
n

For_testing a simple null hypothesis against
the simple alternative hypothesis, the test is
unbiased if

(aa<f

(B e +f<1 ¥

() fa+P>1" i
(dy azp e

where o and f have their usual meaning.

48. Let X and Y be two independent random
variables with WU(0, 6). We are ‘testing
H,: 0= 1 against H, ! 6 = 2. The probability of
type-I error and power of the test for the
critical region {% > I}'BE} are respectively
(a) (0-675, 0-675)
(h)  (0-625, 0-625)
(¢) (0675, 0-625)
(d)  (0-625, 0-675)

SDT-S-STT

49.

(10-A)

For testing standard normal distribution
against double exponential distribution, the

critical region C is given by

(@), C=ix:k; <x<k)

(h) C:tx:klfxm'kz:-xl

() "Gisalx : %] 2 kyor x| € k)

(d) C=ix:|x[>k, or|xli< k)

where k, and k, are some constants.

Suppose the number of failed satellite

launches have a Poisson distribution with
parameter A.. Failure | counts  for ]:;mt
12 m-:;nths a-re observed in order to test
Hj : A = 2 against Hy : A =8, What is the

Likelihood Ratio ?

(a) l'ﬁﬂ‘a"
(b). (71:5e712
12

2 X,
fed (15 7 'el2

24
4 X,
i=1 "1 04

(d) (1-5)
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Consider the following for the next two (02)
items that follow :

The OC function for testing H, : 6 = 6, against

H,:08 =10, (> 6,) using SPRT for a sampling from

Ab0) _ 4
N{9, 1) is Li8) = W; o and p are the

probabilities of type-ls and type<llI". errors

respectively.

51. What are A and B respectively equal to ?

(b) lau,l—fﬁ
() 1ip'1_?
d) .i%;,l;ﬁ

52. What is hi(8) equal to ?

@ 8 o =20

8; -
o) Ot fose
; 8y -8y
“:} Hl - “D + 2["
8 -8
{d:l H] = Hu + 23
8 — By
SDT-S-STT (11-

Consider the following for the next two (02)
items that follow :

Let X be a binomial random wvariable with
parameters n and 0. The prior distribution of 6 is
beta distribution of first kind with parameters a
and fi. Let the posterior distribution of 8|X = x
be beta distribution with parameters p, and p,.

53. What is p, equal to ?

fa)  n-a-p
h) x+a
) m-x+p

d x-a

54. ‘Whatis p, equal to?

(a) m+a+p

(b) x=-o
fc) n+x-p
(d x+a

Consider the following for the next two (02)
items that follow :
Let a random variable X have.a umiform
distribution with density function

1
) '
palel 2J3 o

where | — J3g e x < ¥ 8a,

where <ee < <, 6350

55. What is the MLE estimator of p ?

(@) "%y,
lh] xl'] 1 + xl_n_}
(@  Ixq+x,,1/2

@ 2[x,+x]

A)
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56. What is the MLE estimator of o ?
(a) X
(b) X=Xy

©  [xy—x4,]/(2V3)

(d) lxml E x[l}]‘;2

Consider the following for the next two (02)
items that follow :

Let X;, X, Xg &, X, be iid. random variables
from U”]l" 32], fixV=.

1B <x <8y 0 >0

i=1 2
57. What is UMVUE of 0, equal to ?
A
(a) ﬂ———nxlnjfﬁrll
n—1
ni A
(D) e
n
n)ﬁ: A
:c]. -—M
n-2
A A
{d} ﬂil'_xiﬂl
n—1

where im: E{ij; i=1n

58. Whatis UMVUE of 6, equal to ?

A A

nXra)— Xg)

n-1

(a)

n'xini_xfll
n

(b}

A A
ﬂxrh—xqm
n-—2

ic)

A A

nXy — Xip)
n-1

(d)

SDT-8-STT

Consider the following for the next two (02)
items that follow :

Let X, X,, X, .. X, be iid. random

variables with N(y, p). In this case,

mean = variance = ji (i > 0).

59. 'Consider the following statements :
1. Exf is sufficient fory,
-1+ 4m,
2. MLE of uis ; e
&2
‘b - .
where l.'l'l2 : =
Which of the above statements is/are correct ?
(a) 1 only
(b) 2only
{e) Bothland?2
(d) Neither 1 nor 2
60. Consider the following statements :

L (2x, x ) issufficient for 1.

2, Moment estimator of wis X.
Which of the above statements is/are correct ?

1 only

2 only

(a)
(bl
{c) Both1land?2

(d) Neither 1 nor 2

(12-A)
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61. Which survey being conducted by MOSFI in
2019 will be an important tool for measuring
paid and unpaid work of both men and women
in a society ?

{a) Periodic Labour Force Survey

(b) Time Use Survey

{(¢) Employment and =~ Tnemployment
Survey of NSSO

(d) PepulationCensus

62. | Which of the following are major sources of

health indicators in India ?
1., » National Family Health Survey
2. ' ~Periodic Labour Force Survey
8. . Population Census
4. NBS071°Round - Social
Consumption : Education and Health
Select the eorrect answer using the code given
below :
(a) 1and2only
(b) 2and 3 only
{c) 1,2and3only
(d) 1,3 and 4 only
SDT-S-STT

63.

64,

(13-A)

Consider the following statements :

1. Most of the index compilers use
Laspeyres’ Index Formula for index
compilation even though it has inherent
upward bias.

2. It is advised that Base Period of an
index should be revised as frequently as
possible.

Which of the above statements is/are correct 7

{a) 1only
(b} 2only
(¢) Both1land?2

(d) ' Meither 1 nor2

Which of the following statements-are correct

about Sustainable Development = Goals

(SDGs) ?

1. United Nations Development Programme
(UNDP) formulated these'goals.

2. There are 17 goals.

3. These are intended to be eompleted by
2030.

Select the correct answer using the code given

below :

(a) 1and2only

(b) 2and 3 only

ic} 1and3only

(d) 1,2and 3
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65. ‘Wages and salaries’ earned by a resident of

country ‘A’ from a resident enterprise of
country ‘B’ is included in

{a) GDP of country A.
(b} GDP of country B.
{c)  GNI of countryA.

(d) GNI of eountry:B.

66. Which one of the following is not a component
of United Nations' Human Development
Index (HDI) ?

(a)r Life expectancy at birth

(bY. Infant mortality rate

(¢) . Expected and mean years of schooling
(d). Per eapita income

67. Gross Domestie Product reflects the

(a)  industrial growth scenario of the
country.

(b) trend invagricultural growth in the
country.

{e) size of country’s economy ‘at market
price.

(d) unduplicated output of the economy at
basic price.

SDT-S-STT

68. Poverty line in India was based on the data

70.

(14 -A)

from which of the following ?

1. Consumer Expenditure Surveys of
National Sample Survey Office (NSSO)

2 Health Surveys of NSSO
3. National Family Health Survey

Select the correct answer using the code given
below :

(a) ' 1and 3 only
(b)  2/and 3 only
(c}y lenly
(d) 3only

The statement “Growth rate of the guarterly

estimate of GDP is 10%" means

(a)) economy has grown by 10% from the
last month of the year.

(b)" economy has grown by 10% over the
same month in the previous vear.

{c) economy has grown by 10% over the
same quarter in the previous year,

(d). economy has grown by 10%. over the
previous quarter in the same year.

Which are the divisions of National Sample
Survey Office 7

1. Survey Design and Research Division
(SDRD)

Field Operations Division (FOD)
Data Procéssing Division (DPD)
Survey Coordination Division (SCD)

Select the corrget answer using the code given
below :

{a) 1and 2 only
(b) 3 and 4 only
(e} 1,2 and 3 only
(d 1,2,3and 4
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Merchandise Trade Statistics as collected by
Directorate General of Commercial
Intelligence and Statistics (DGCI&S) is
compiled from bills submitted by importers
and exporters. Thus, it is an example of

(a) statistics collected through Survey.

(b) administrative statistics.

(c) statistics collected through Census.

(d) statisties collected through mixed mode.

In Indian official statistics, the output of
agriculture grops i# estimated using which
one of the fullowing approaches 7

(a) ‘Marketarrivals + Farmers retention
{b) " Area under crop x productivity x prices
(¢) -~ Sample surveys of farmers production
(dy - Compilation of village level statisties

78. Which one of the following is nat correctly
matehed ?
Index Base Year
(a) CPLIW 2016
(b)’  CPL{R and 1) 2012
(c) CPI-AL/RL 2015
(d) WPL 2011 - 12
74. Which one of the following measures is-known
as National Income 7
(a) GDP at market price 7
(b)  GVA at basic price
(¢}  GNI at basic price
(d) NNI at basic price
SDT-S-STT

75. Consider the following :

6.

71.

(15-A)

1. GDP

2 IMR

3.  Dropout rate
4. CPI

5. WPL

Which of the above are official statistics 7
(a)" 2, 4 and H.only

b 1,2, 4 and 5only

() 1and3only

(d) 1,2 3,4and$

Who are authorised to
statistics in India ?

eomupile | official

1 Central Government
g, State Government

3. Panchayat Raj Institution£Urban Local
Bodies

Select the correct answer using the code given
below :

(a)  1and 2only
{(b) 2 and 3 only
(¢} 1and3only
d} 1,2and3

Collection of statistics for different subject
gpecific areas (such as Agriculture, Labour,
Health, Commerce) vests with which one of
the following agencies ?

(a) Ministry of Statistics and Programme
* TImplementation

(b)  NITI Aayog
(c)  Ministry of Finance

(d) Corresponding Administrative Ministry
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78. The National Statistical Commission (NSC) 50
was set up in 2005 through :
(a) a Constitutional Amendment.
{b) a Government Resolution.

(¢) an executive order.

(d) an internal notificationof the Ministry
of Statistics and Programme
Implementation.

79. For which of the following purpose is NSS0

data not used?

(a) / Poverty estimations and fixing poverty
line

{(b) Estimation of contribution of
unorganised sector

(¢) ' Fixing minimum support price of major
crops

(d)_ Employment and unemployment
Scenario

SDT-S-STT (16-A)

Consider the following statements with
regard to Consumer Price Index (CFPI) :

L

It is a measure of the average change in
prices over time that consumers pay for
a basket of goods and services.

It is calculated using prices of a sample
of representative items whose prices are
colleeted periodically.

It may be interpreted as a measure of
both inflation and deflation.

Which of the above statements are correct ?

(a)
(b}
(c)
(d)

1 and 2 only
2 and 3 only
1 and 3 only
1,2and 3
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SPACE FOR ROUGH WORK
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SPACE FORROUGHWORK

SOT-SETT: 8 (18-A)
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SPACE FOR ROUGH WORK

e

SDT-S-STT (19-A) = liE
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SDT-S-STT (20-A)
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ISS- EXAMINATION-2021
STATISTICS PAPER- 2(TWO)- SET-A

Number of items-080  No of items dropped-01 Maximum Marks-200
1 D 31 c 61 B
2 A 32 C 2 D
3 X 33
4 C D
5 D 3
6
7 1rcC D 67
8 B 68 C
9 39 C 69 C
4 e 70
171 B
| 2 42 7 B
134 43
1 1B 44 A
. : C 45 D
‘ 1 A 46 D D
1 A 47 D
18 48 B
9 79%
' 5 80
A 5
2 ‘ B
2 CYERNETRISH
24 D
25 55 '
26 B 56
27 C ‘
28 A 5
29 D 59 C
30 A 60 B

g ro -3 - drppe?
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I55- EXAMINATION-2021

STATISTICS PAPER- 2(TWO)- SET-B

T

Number of items-080  No of items dropped- 01 Maximum Marks-200
1 C 31 D. 61 A
2 c 32 A 62 B
3 B 33 '
4 D C
5 A 35
6 A 6
7
2 3 B 68 A
12 C 69 c
10 40 B 70 B
2 4 71
2
43 C
. 44 D .
3 45 D
6 46 D D
7 47 D 5
8 48 B 7 A
| 79
A= A 80 C
215 51 . -
22
25 : ASTn AT o 10
24 B* O INC ITRXIPY
25 |55 | |
26 A 56 B
27 A = 3
28 G C.
29 C. 59
30 A1 : 60 D5
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Number of items-080  No of items dropped-01 Maximum Marks-200
1 A 31 B 61 B
2 B 32 ¢ 162 B
3 c 33 _ ' )
4 C : D
5 B 3
E |
7 7 A 67
8 C 68 B
9 39 [ 69 C
1 40 A 70 D
71
42 B
| E] 43 a
14, 44 D
1 45 G
1 46 B C
17 47 D-
8™ 48 78 A
9 79
> 80
2 51 :
22 1D ™
23 CHR NET&ISS
24 Tl _rL:l,.l k| T g o =g
25 55
26 A 56
b D |
28 B:: 5
29 G 59
30 5 60 € =
/8- Avppet '
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155- EXAMINATION-2021
STATISTICS PAPER- 2(TWO)- SET-D

Numberof items-080  No of items dropped- 01  Maximum Marks-200

1 B 31 A 61 C
2 C 32 B 62 D
3 C 33
4 B 4 A
5 C 5 ;
6 A 86 P [B
|7 ’ ; 67
8 C A 68 A
9 C 9 D- 69 C
10 40 A. 70 C.
1 1
C 42 |
43 c’ 7

. 44 D. '

5 45 c | E?

6 46 & B. 4

7 47 D C.

48 78 %
79 3

2 ) 50 80
[ 21% ) - 51 .
22
23
24 5¢
25 55
26 C 56 b
27 C [
28 B 58
29 E. 59 C:
30 B - 60 D

@ Ao - 25~ 0("//'""'"





